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Chuquidhe  wnswlwl opowuh’ punhwunip hpwywunipjwt nuwwpwuh Ynndhg
15.10.2014p. npjwd GTYV0624/02/14 Ywwnwpnnulwu pbpph hwlwdwiu whnp t
Rnpwttw Mwbuwgbih Snuynjuitihg hognun <<USP-Cujwunwl pwul>> PP puybipniequu
pnlwqwudby 917.078 /hup hwpnip tnwulyne hwquwp jnpwuwununye/ npwd 80 /nipunil/
indw, nphg 548.000 /hhug hwpnip  pwnwuniinge  hwqup/ npwdp  npwbiv Jupyh
dwdlbnwug gnudwp, 350.269 /bpbp hwpynin hhunit hwquip bplne hwpjnip Jwpuniupp/
npwd 60 Awpunt/ jnudwt npubu Juplh nhdwg hwodquwplyws  wnynu  (32.429
/Gpauniubipne hwquwip gnpu- hwpynip puwhup/ npwd 60 /Jweunty/ (ndwu dwdybinwug),
18.809 /nnwutnie hwqun nye hwpynip hup/ npwd 20 /puwty/ (nudwt npwbiu dwdlybnwg
wnlnuh nhdwg hwadwnlyws nnyd, 18.341 /inwutinye hwqup bpbp hwpjnip pwnwuniudbly/
npwd 60 /wpunty/ nuw twiuwwbu Jewpdws whuwngppp, huswbu bwl dwdlybinwg
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h/ pwtwlp | ghtp qhup
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T | Nulyw dwwnwt' 583 hwpg 4,8 gpwd 1 hwwn 52.800 npwd 38.016 npwd
2 | Nulpw dwwnwt' 583 hwpg 2,7 gpud T hwun 29.700 npwd | 22.275 npwd-
3 | Nulyw dwunwt' 583 hwpg 3,0 gpwd Thww | 33.000 npwd 24.750 npwd
4 | Nulyw wlwugon * 583 hwpg 3,8 1 qnyg 41.800 npwd 10.450 npwd

gpwd
S | Nulyw wywugon' 583 hwpg 0,9 1 hwwn 9.900 npwd 7.425 npwd

qpuid
6 | Nulyw fuws' 583 hwpg 2,3 gpwd Thwwn  [25.300 npwd | 18.975 npwd




Nuljw plung' 583 hwng 11,0 gpwd 1 hwwn 121.000 npwd 90.750 npwd
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Nulw 2nrew’ 583 hwng 13,0 gpwd 1 hwwn 143.000 npwd | 107.250 npwd
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